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[OEX0) X %)) DHED [OEX0) X)) [OFX0) [OEX0) DHED
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 — — 97.35 1.00 — — 12.02 2.38
2 ~ 3 — — 100.00 1.00 — — 12.06 2.39
3 ~ 4 107.64 1.00 100.00 1.00 — — 12.06 2.39
4 ~ 5 108.10 1.00 100.00 1.00 — — 1.15 2.40
5 ~ 6 114.23 1.00 100.00 1.00 — — 12.15 2.40
6 ~ 17 117.23 1.00 100.00 1.00 — — 12.12 2.40
7 ~ 8 119.44 1.00 100.00 1.00 — — 13.04 2.58
8 ~ 9 124.81 1.00 100.00 1.00 — — 13.04 2.58
9 ~ 10 128.35 1.00 100.00 1.00 — — 12.78 2.53
10 ~ 11 129.91 1.00 100.00 1.00 — — 12.56 2.39
11 ~ 12 130.93 1.00 100.00 1.00 — — 12.44 2.46
12 ~ 13 130.93 1.00 100.00 1.00 — — 12.44 2.46
13 ~ 14 — — 100.00 1.00 — — 11.86 2.35
14 ~ 15 — — 97.12 1.00 — — 12.76 2.52
15 ~ 16 — — 95.34 1.00 — — 12.76 2.52
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